NN DT VDY AT

(b) y oy ym'n N1 (m) viow ixxn X .1

y=mx+b :D'NNIN MK XY 120D 2

(b) y oy Jin'n 1721 (m) vIo'w Inxn X .2

y=mx+b :D'RNN MK Xt 1ANd .2

(b) y oy Jin'n nTij721 (m) viIo'w In¥n .x .3

y=-5x

y=2x-3 n'¥puon nam .4
7w 7w nkyna (10,17) nmijzan oxn X

nnon

77w 7w nxym (0,0) nmjan oxn 2

Nnon




.0Mo0n Y Im .5
.0m90nn ¥a (1,1) nTian NX 07 ‘o .X
.O'RNN 972 NN .3 XN VI9'WAY [Im A

y=mx+b D'NNN 227K 21X 12N .2

:D'NQN D'M2278N DIXTD Dma L6

y=2X
y=2x%-3
y= 2x+4
DY NWITY 1D AN DY DYITY DX DV DR X

20N A

(0,-2) (3,4) (1,0) nimjm 3 naima .7

Wt INIR 7Y NIKYND [0 DX .2 .9722 [NIX DR .X
"
6

Ian%xna




